THesSORY - Jdov 24 - Tedd L & L

%

Vivees L \ s\r\’xﬁh

?

\1.
WeBWMe: - - 2x%* £ 20
=R =30
(-273-30 = D\ W= -2X T4 R
! —\S
ik 2= =\ H‘ﬁ\'?/
= res Tl 20 N VR NN X4 T @ Ao 7>
w= *\ sollin (-m'-b)
w418 T e N
Pushh  evevboney  1vds 1 <y - el
. PO o
‘#:-" X > X ~— &t PR BN ngb\\r,
A= | 1
¢ oreskee
7?0 Tr-%kZ* % e (D=0
'X"+B7§:Q =1
-X (% -%)=0
X=0d ,x=8
Q) -, )
1(%) —%_r_i _ =X
trw o pacE 1 Tewe Fabe — 21 © 9
=) «°
D;V_/ \ E 8 \-4 M‘—
\lexT %>
2 (%) P we (o —tA )
] W W
xz & Fqé L %” hd:")\u(\'&\
< 2 "
B \Ov_%(,% ‘ -zt=7%) S o
_g(c-ﬂ e@ 9 (=z2-1
K=B % | <O ©
e A0 200 n
-x(#) _-x € B !
SC )' 5 -l Wy o
f/(
a
4 < —\—:-R,—l‘ +__’_£, é\lw—gavﬁ,
R Kz R\ R, 2
-
L R, +R
— p | W &t vMU
(S 2. B,
z(@:J’Z-\ = R\Ro R 2 = RiRe— RR,
(ZIZZ + Eﬂ. = 2.@1 = (= (R’L‘ PB
- RR, -R i
RR,
Ry - R :R,
3. TR+S \
> <
( -1 27X +%

1

Jd7

"

*

'P

ik
\J
e
A\
403

-

3

.

$5p) < 930 + 2x



Ao f= 1c v+

nclasive @

-t < 1{4 +32 £
-3 € 4. ¢\ ot v ww '
11
> (- 5
[-q'(-ﬂ\/ 4'X
g -ax" £ %0
* = Wi happy W (eie -2
Sclut;v‘ < sk vt, L oodwo for YAV 'XV"*Y’\» Y= -7 iy bJow
e y-= - -
[ g 9T 3

foph ol ger -2 dweyg £ 2o,
ol oghvs 22T € 3D (- o2)
/

Sx‘a«id
X*+18€ 20

m ‘go\(jb‘(‘ N bu\d w ﬁ\n\, Voi\i SN )(l +1¢ -ﬁg’

ol x=y =) oo

e Mo R
@JQ\ * —ditalnt —
voss ww\u- W e ()avu-u-‘u!\l
\ - ﬂl “'21
r 4 R0, = R(R24R) = RRy+ER,
k e Sa{‘r-w Ry taws 7
RR - RR = RRy
Yodor
R((R2-R) = pR,
R, = Q‘zz/(ﬁlﬂl\
@ Recta#M it is wi i i
gle is 50cm longer than it is wide. Express the perimeter of this

rectangle in terms of the width.

so+V

50 *W

Pz 2+ 2w = &(W&u\i—}w = 4w +\v




DINES & WAMON - LD 2 BV Us pew et
VRS EBN'S  oF  LINES

\6': WK +\1 s\gru »M{{Cu‘k v%@(vx.

— WY (# —%) ‘n\W\ - &\"v‘/ %NW“\‘

d:";h fives Mw Lins,
gpvevak e qudlion
sope fovmike

T S

w =< —\' e -2

. glope = D
y\«\uv\’ﬁl (TR 7 V\"q e \%71(
Vg\/\‘ﬂ(ll .9'-’ &a\b‘zl = ll\\M\
/& [ Was mhonte e\a(.\

P{’M N // sevk W ‘ZL\wAfW\sV , \»éu)-d‘

\ 4°
0 drang -y thee = o
- (hid < i\, = & han
dege = ‘G Rx T TRk ey 7\7,
¢

VP@\}\’\'\DN" X 1S PYOPD\’HAV‘AQ AV 6
X = /k\, &e\&, wilowawie t'(‘ﬁi o™
X i 8 'nvwwy»\\t Pw‘n\)m\mk 1 uh,
ey T
* s \So\:\‘\ﬂ \()N‘n\)ﬂ\vi L0 Y ‘;\ w
X = -YL\' w

x varies directly as the cube ofy. X = 4% 53
w is jointly proportional to the square of x and the cube root of y and inversely

proportional to z w = (47_ ><1) E\J——
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We are 20 feet from fire(Wood is then doubled)How far from the fire must we
move to feel the same heat as before? L
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The amount of heat you feel standing by a campfire is proportional to the amount of
wood and on the fire and inversely prop. to the cube of the distance to the fire.b
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